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���� /DWDU�%HODNDQJ�0DVDODK

3HUNHPEDQJDQ� WHNQRORJL� PDVD� NLQL� VHPDNLQ� PHQJXEDK� JD\D� KLGXS�

GDODP� PHQMDODQL� DNWLYLWDV� VHKDUL�KDUL� \DQJ� OHELK� SUDNWLV�� %HUEDJDL� DSOLNDVL�

VHPDNDLQ EHUNHPEDQJ�SXOD��PXODL�GDUL�DSOLNDVL�PHQJRODK�LQIRUPDVL��GDWD��GDQ�

ODLQ�ODLQ��$SOLNDVL�\DQJ�GLFLSWDNDQ�MXJD�KDUXV�KHPDW�ELD\D��KHPDW�ZDNWX�GDQ�

SUDNWLV� GDODP� SHQJJXQDDQ\D� 3RSXODVL� PDQXVLD� VHPDNLQ� EDQ\DN�� PDND� GL�

EHUEDJDL� WHPSDW� VHSHUWL� UHVWRUDQ PHQJDODPL� DQWUHDQ NHWLND� DNDQ� PHODNXNDQ�

SHPED\DUDQ MLND�FDUD�SHUKLWXQJDQ�PDNDQDQQ\D�PDVLK�UXPLW� 6DODK�VDWXQ\D�SDGD�

.DQWLQ� 7HNQLN� )7(� 8QLYHUVLWDV� 7HONRP�� SHPED\DUDQ� PDNDQDQ� PHPLOLNL� ��

WDKDS� \DLWX� PHPEHOL� PDNDQDQ� GL� VDODK� VDWX� NHGDL� GDQ� PDNDQDQ� GLKLWXQJ�

PHQJJXQDNDQ�NDONXODWRU�PDQXDO�ODOX�PHQGDSDW QRWD��VHODQMXWQ\D�NRQVXPHQ�NH�

EDJLDQ�NDVLU�GDQ�PHPED\DU�ODOX�QRWD�GL�VWHPSHO��VHODQMXWQ\D�NRQVXPHQ�KDUXV�

NH� NHGDL� VHEHOXPQ\D� XQWXN�PHQ\HUDKNDQ� QRWD� \DQJ� VXGDK� GLVWHPSHO�� WDKDS�

SHPED\DUDQ�WHUVHEXW VDQJDW�WLGDN�SUDNWLV� .HDGDDQ�LQL�PHQLPEXONDQ�NHEXWXKDQ�

DSOLNDVL�\DQJ�PHPXQJNLQNDQ�XQWXN�PHQGHWHNVL MHQLV�PDNDQDQ�VHUWD�HVWLPDVL�

WRWDO� KDUJD� PDNDQDQ�� 'HWHNVL� RWRPDWLV� JDPEDU� PDNDQDQ� PHPDLQNDQ� SHUDQ�

SHQWLQJ�� %HUIRNXV� SDGD� UHVWRUDQ�� DOJRULWPD� SHQJHQDODQ� PDNDQDQ� GDSDW�

PHPXQJNLQNDQ� SHPDQWDXDQ� KDUJD�� PHPXQJNLQNDQ� XQWXN PHPSHUPXGDK

OD\DQDQ�\DQJ�GLWDZDUNDQ�ROHK�UHVWRUDQ�

6LVWHP�GHWHNVL PDNDQDQ PHQJJXQDNDQ�NODVLILNDVL�&RQYROXWLRQDO�1HXUDO�

1HWZRUN �&11�� DGDODK� UHSUHVHQWDVL� SHQJHWDKXDQ� WDKDS� ODQMXWDQ� GHQJDQ�

PHQMHODVNDQ� PDNDQDQ� DSD� VDMD� \DQJ� DGD� GDODP� VDWX� IUDPH JDPEDU� \DQJ�

GLDPELO� 6LVWHP� LQL� \DQJ� GLWHUDSNDQ� SDGD� DQDOLVLV�PDNDQDQ� GL� UHVWRUDQ� GDQ

SHQDJLKDQ�RWRPDWLV��GLPDQD�NDVLU�KDQ\D�PHPEXDW�WDJLKDQ�DNKLU��%HUGDVDUNDQ

ODWDU�EHODNDQJ�GL�DWDV��PDND�WXJDV�DNKLU�\DQJ�GLEXDW�DGDODK �'HWHNVL�0DNDQDQ�

'HQJDQ� 3HQJRODKDQ� &LWUD� 0HQJJXQDNDQ� 0HWRGH� &RQYROXWLRQDO� 1HXUDO�

1HWZRUN %HUEDVLV�'HVNWRS��
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���� 5XPXVDQ�0DVDODK

5XPXVDQ�PDVDODK�\DQJ�GLDMXNDQ�GDODP�SHQHOLWLDQ� WXJDV�DNKLU� LQL� LQL�DGDODK�

EDJDLPDQD GHWHNVL�PDNDQDQ�GDSDW�PHODFDN�DSD�VDMD�PDNDQDQ�\DQJ�DGD�GDODP�VDWX�

IUDPH JDPEDU�GDQ�PHQJHVWLPDVL�KDUJD�WLDS�PDNDQDQ�\DQJ�GLEHOL�

���� 7XMXDQ�

7XMXDQ�GDUL�SHQHOLWLDQ�WXJDV�DNKLU�LQL�DGDODK PHPEXDW�DSOLNDVL�\DQJ�PDPSX �

�� 0HQGHWHNVL� PDNDQDQ GDODP� VDWX� IUDPH JDPEDU� PHQJJXQDNDQ� PHWRGH�

&RQYROXWLRQDO�1HXUDO�1HWZRUN �&11��SDGD�NODVLILNDVL�FLWUD GDQ�HNVWUDNVL�

FLUL�PDNDQDQ�

�� 0HQJHVWLPDVL�KDUJD�WRWDO�PDNDQDQ�GDODP�VDWX�IUDPH JDPEDU�

���� %DWDVDQ�0DVDODK

%DWDVDQ�EDWDVDQ�PDVDODK�GDODP�SHQHOLWLDQ�WXJDV�DNKLU�LQL�DGDODK�VHEDJDL�EHULNXW�

�

�� 'HWHNVL�PDNDQDQ�GDODP�VDWX�NDOL�SHQJDPELODQ�JDPEDU�

�� &LWUD�PDNDQDQ�\DQJ�GLSURVHV�EHUIRUPDW�MSJ�DWDX�MSHJ�

�� 3URVHV� NODVLILNDVL� FLWUD� GDQ� HNWUDNVL� FLUL�PDNDQDQ�PHQJJXQDNDQ�PHWRGH�

&RQYROXWLRQDO�1HXUDO�1HWZRUN �&11��

�� 'HWHNVL�PDNDQDQ�SDGD�� MHQLV�PDNDQDQ�\DQJ�EHUEHGD��QDVL��D\DP�JRUHQJ��

WXPLV� ED\DP�� VDPEDO� JRUHQJ�� WDKX� JRUHQJ� RSRU� D\DP���0DNDQDQ� \DQJ�

WHUVHGLD�GL�.DQWLQ�7HNQLN�8QLYHUVLWDV�7HONRP��

�� 8QWXN�EDJLDQ�\DQJ�GL�GHWHNVL�GDUL�D\DP�JRUHQJ�DGDODK�EDJLDQ�GDGD��8QWXN�

RSRU�D\DP��EDJLDQ�SDKD�DWDV�

�� 'HWHNVL GDODP�VDWX�JDPEDU KDQ\D�SDGD�PDNVLPDO��� MHQLV�PDNDQDQ \DQJ�

EHUEHGD��'DODP�VDWX�JDPEDU��MHQLV�PDNDQDQ�KDUXV�EHUEHGD�

�� $SOLNDVL�EHUEDVLV�GHVNWRS�

�� 3HQJDPELODQ�JDPEDU�SDGD�MDP������������

�� 3HQJXMLDQ�PDNDQDQ�SDGD���NHODV�GDUL����NHODV�\DQJ�DGD�
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���� 6LVWHPDWLND�3HQXOLVDQ�7XJDV�$NKLU

3HQXOLVDQ�EXNX�WXJDV�DNKLU�LQL�GLVXVXQ�VHFDUD�WHUVWXNWXU�GDQ�VLVWHPDWLV�GHQJDQ�

EDE�EDE�EHULNXW�LQL��

%$%�,�3(1'$+8/8$1�

%DE�3HQGDKXOXDQ�EHULVL�PHQJHQDL�ODWDU�EHODNDQJ��UXPXVDQ�PDVDODK��WXMXDQ��EDWDVDQ�

PDVDODK��GDQ�VLVWHPDWLNDQ�SHQXOLVDQ�WXJDV�DNKLU�

%$%�,,�/$1'$6$1 7(25,

%DE�ODQGDVDQ�WHRUL EHULVL�PHQJHQDL�SHQMHODVDQ�PHQJHQDL�WHRUL�GDWD�\DQJ�GLJXQDNDQ�

VHUWD�WHRUL�PHQJHQDL�DOJRULWPD�\DQJ�GLSDNDL�

%$%�,,,�3(5$1&$1*$1�6,67(0

3DGD�EDE�LQL�PHPEDKDV�PHQJHQDL�JDPEDUDQ�XPXP�VLVWHP� VLVWHP�\DQJ�GLJXQDNDQ��

SHUDQFDQJDQ�VLVWHP��GDQ�LPSOHPHQWDVL�VLVWHP�

%$%�,9�3(1*8-,$1�'$1�$1$/,6,6

%DE�LQL�EHULVL�PHQJHQDL�VNHQDULR�SHQJXMLDQ��KDVLO�SHQJXMLDQ�\DQJ�GLGDSDWNDQ��VHUWD�

DQDOLVLV�GDUL�KDVLO�SHQJXMLDQ�\DQJ�GLGDSDWNDQ�

%$%�9�.(6,038/$1�'$1�6$5$1

%DE� LQL� EHULVL�PHQJHQDL� SHQDULNDQ� NHVLPSXODQ� GDUL� KDVLO� SHQJXMLDQ� GDQ DQDOLVLV�

VHUWD�VDUDQ�WHUKDGDS�SHQHOLWLDQ�WXJDV�DNKLU�LQL�


